Determine the acceleration of the system and the tension in
the rope connecting the masses
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Determine the acceleration of the system if...
a) the slope is frictionless

b) the coefficient of friction is 0.1
c) the coefficient of friction is 0.3

Determine the acceleration of the system and the tension in

each rope.
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Determine the acceleration of the system and the tension in
the rope connpecting the mgsses Faer=Ma
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Determine the acceleration of the system if...
a) the slope is frictionless
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b) the coefficient of friction is 0.1
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c) the coefficient of friction is 0.3

r‘)cx': ngx= MjS(n"ID:
Fyy= Ray = moces®

=
(F:‘-:' f-’?.’ = Mg c:.s@

C R Fouy Moy €S TS

Frer = Mo
R T, iy Py B, e o -Fgy = 3ma
mjcin‘lb' 'P‘FN.* Masin‘m' -pFaa- Mg =3ma
vhq Sin Y4 0o° -'A’(3Ce$‘*0.“' ’(3sin"|'0."r\;‘3c.os"|'0'—y(jzgyﬂa
(’Zsan‘to" - ches'-to‘ -1)
= S q

= -0.5¢a Za

(0§

— D

ni3




Determine the acceleration of the system and the tension in
each rope.
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